POUR LE LLUNDI 2/6

Pose et effectue en colonnes :
1,98 +96 + 0,466 = ..........
0,49 +9,64 + 37 = ..........

28 +3,56 + 6,56 = ..........

9,28 +74+41,83 =..........
7,73+289+1,65=..........
0,933-0,458 = ..........
2-0,467 = ..........

Pose et effectue les divisions suivantes au centiéme pres :

2385,4:34=..

958,67 : 36 = ...
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Pose et effectue en colonnes :
1,98 + 96 + 0,466 = ..........
0,49 +9,64 + 37 = ..........
28 + 3,56 + 6,56 = ..........
9,28 +74+41,83=..........
7,73 +289 +1,65=..........
0,933-0,458 = ..........
2-0,467=..........
3,11-0,751 = ..........

4,96 -2,33 = ..........
88,5-0,230 = ..........

Pose et effectue les divisions suivantes au centiéme pres :

2385,4:34=..
958,67 : 36 = ...



